75

ITEM # EL-80 EL-110 EL-150 EL-220 Description
1 7450P-001 7450P-002 7450P-003 7450P-004 |BOILER MODULE
2 7230P-140 7250P-160 7250P-160 7250P-160 | CERAMIC TARGET WALL
3 J500P-10% 7a00P-10% 7500P-10% 7o00P-10F | M4 FLAT WASHER
4 7250P-704 F250P-704 7250P-704 F250P-704 M4 X 8 FLAT HEAD SCREW
5 7450P-D04 7450P-004 7450P-006 7450P-006 |BURNER DOCR
& 7450P-005 7450P-005 7450P-005 7450P-005 |BURMNER DOOR INSULATION
7 7450P-00% 7450P-010 7450P-011 7450P-012 |BURNER
& 7500P-074 7500P-074 7500P-074 7500P-074 | GASKET - BURNER
7 7450P-008 7450P-005 7450P-007 7450P-007 | AIR CHANNEL
10 J250P-206 7250P-206 7250P-205 7250P-206 | M5 X T4MM TORX SCREWS - AlR CHANNEL
11 J500P-075 7E00P-075 7500P-075 7500P-075 | GASKET - AIR CHANMNEL/BLOWER
12 7500P-031 7500P-031 7500P-031 7350P-159 |COMBUSTION BLOWER
13 7250P-478 7250P-475 7250P-475 F250P-478 |MS5 X 12MM SOCKET CAP SCREW
14 7450P-022 7450P-023 7450P-024 7450P-024 | AIR/GAS MIXER
15 7450P-141 7450P-141 7450P-141 7500P-079 | SCREWS - AIR/GAS MIXER
15 7430P-115 F450P-115 7450P-113 7450P-115 |WASHER - AIR/GAS MIXER
17 7430P-13% F450P-137 7450P-13% 7450P-138 |FLARE X B3P FITTING
18 7100P-140 7100P-140 7100P-140 F450P-140 |FLEXIBLE GAS LINE
19 7450P-025 7450P-025 7450P-025 7350P033 |GAS VALVE
20 7450P-154 7450P-154 7450P-154 7450P-143 |FLARE X NPT FITTING
21 7500P-067 7500P-067 7500P-067 7500P-0D467  |Mé NUT - BURNER DOOR
22 7250P-005 7250P-005 7250P-005 7250P-005 | GASKET - PROBE/ELECTRODE
23 7350P-020 7350P-020 7350P-020 7350P-020 |SPARK ELECTRODE (W/GASKET)
24 7250P-047 7250P-06% 7250P-046% 7250P-069 |SCREW M4 X 8MM - PROBE/ELECTRODE
25 7350P-022 7350P-022 7350P-022 7350P-022 |FLAME RECTIFICATION PROBE (W/GASKET)
26 7250P-647 7250P-667 7250P-667 7250P-667 |THERMISTOR
27 J250P-074 7250P-0%6 7250P-078 7250P-076 |WATER PRESSURE SWITCH - NPT THREAD
28 7430P-192 7450P-192 7450P-192 7450P-192 | THERMISTOR/WATER TEMP SWITCH
29 7450P-155 7450P-165 7500P-057 7500P-057 | CONDENSATE HOSE
30 7450P-200 7450P-200 7450P-200 7450P-200 |CONDEMSATE COLLECTOR ASSY
3l 7250P-210 7250P-210 7250P-210 7250P-210  |HOSE CLAMP
a2 7450P-144 7450P-144 7450P-144 7450P-147 |PAN HEAD SCREW @
33 7330P-043 7350P-063 7350P-063 7350P-063 |#10 X 1/ SELF TAPPING SCREW - CONDENSATE
34 7430P-199 F450P-197 7450P-199 7450P-199 | 1/4" NPT NIPPLE
35 7450P-220 7450P-220 7450P-220 F450P-220 | AIR/GAS MIXER INLET ASSY
34 7450P-197 7450P-197 7450P-1597 7450P-197 | AIR RELEASE VENT
37 7350P-1467 7350P-167 7350P-167 7350P-167 |CONDEMNSATE OVERFLOW SWITCH
38 7450P-145 7450P-165 7450P-1465 7450P-165 |SETSCREW - 10-32 X 3/8
39 7350P-624 7350P-624 7350P-424 7350P-623 | 24VAC GAS VALVE COIL ONLY - GREY
LP-293-C
03/14/11
Figure 34

LP- 293 REV. 6.5.13



